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M 13 oo : X 32 7| XHEHE &0 &

@ HAHE €

1. SEXFH| =

(1) € MNFSEE

ECR7lst O S57|Y

XM 3271 2017 128 31 <Xy
M 3171 2016 128 31 &

(Ergl : gt

o

)

A= M32()7 & M31(H)7 &
PN

(1) FSXHAt 10,649,721 8,159,320
1. AZUAS G 182,207 156,148
2. O|XIZ 373,488 249,784
3. D= XHE S D |EF A 3,700,487 2,419,303
4. TS 19 103
5.7 I28HE 53,770 85,414
6. GI1ERAMXIE S XML 3,182,402 3,041,198
7. IS EF 8t 31,083 11,529
8. T 7|0HOH S XAt 3,017,129 2,122,711
9. J|Et ALt 108,690 71573
10. RO KpAF 446 1,050
11, OfZFOfl EXpAt - 507
(2) HI G SXHAL 1,648.330 1,385,296
1. &7|t02 1,800 1,968
2. AT |HEKXL 254,078 170,234
3. V28 E 159 159
4. =IHsa AL 770,985 562,262
5. S| ERF 8L 7,081 4,375
6. EXRE S 269,982 304,560
7. YR 217,859 227.461
8 IH 64,711 44,887
9. FYUH 0[] FHKL 42,665 54,235
10. 7|EfH| R SXIAF 13,067 5,111
11. O| QLA X}AF 5,944 10,045
XS A 12,298,051 9544615




AH o= M32(F)7 1 H31(H)7 [
1. S XH
(1) F5M 9,853,155 7.627.245
1. ORI [EFXHF 625,670 333,535
2. HI|0= 85X 128,030 173,902
3. G7I1EIAX|EZ 8 784,787 684,342
4. 0|2 5,021,249 4,190,917
5. IS 7,027 9.745
6. THO|IXH = 2,990,704 2,112,876
7. FSHAM 99,916 -~
8. J|EtFEFH 143,628 86,012
Q. FIIHOIMIE XY 52,142 35914
(2) H|RsFXH 533,904 309,802
[RES PN 155,834 100,304
PARSKIPNUN| 141,582 -
3. E[Xg & 1,358 1,409
4. O|HEH Ol A| S XY 137,590 90,347
5. R EAeXE 88,075 94232
6. 7|EtH| S5 9,466 23511
EXHEA 10,387,059 7.937.047
Il Xp=
(1) XrE= 22,433 22.433
(2) Ar2doa 242,531 241,994
(3) Xt2|FA 3 J|EtX 2 (18,554) (21,620)
(4) 7|EfIEZH&EQ A 6,310 (11.733)
(5) o|9jAo2 804,324 699,888
X7 | A FFXE2 1,057,045 930,963
H| X|HH X2 853,947 676,606
XHESAH 1,910,992 1,607,569
SXHRESH| 12,298,051 9.544.615




327120179 1€ 1YEE 201749 12€ 31 7K
M 317120169 1€ 12EEH 2016'F 12€¥ 31 X
@CR7120 O &47|Y (T : uiarel)
AE M= H32(E)7| H31(H)?|
. D&Y 1,391,104 1,153,420
I, D= 20t (803,559) (673,333)
. tlE50(< 587,545 480,087
IV, TrOfH| b2 ] (256,041) (226.674)
V. 2o 331,504 253,413
J|Ef< 18,465 13,158
J|EHHIE (9,165) (10,537)
=859 1,295 1,165
=8t (5,264) (5,590)
X|280|¢] 14,115 10,543
=i (5,799) (1,319)
VI, HOINH[EXZ MAH LS FH0| 345,149 260,833
HE A QIMHEIE (102,007) (69,055)
VI HSF 0|9 243,143 191,779
Vil SEHEH0[A — 199
IX. & 2]&=0[2 243,143 191,978
X. J[Ef&&el:
SEMOZ GIA00oZ HEFE ===
OHRIAH Al (4,872) 149
=ots28RHE IS 52,997 (17.514)
A EHAEHS 342 160
Ril=geR= el fex kel iRl st (462) -
SEXMog HI|&QoZ IHESLX| Qe o=
SEFHMES HEHRA 426 (625)
SHRIAF RIS Ol (H| X|HI X 2) (3,101) 1,027
J|EFE &0 BHA| 45,330 (16,803)
XI. EXXZ0|Q] 288,472 175,175
Y 7|=0]29| P&
XHi7 | P2 QF X2 114,579 97,507
H|X|Hi X2 128,563 94,471
FIE0[ 9| F&:
XHH 7| P A QT K& 133,190 88.321
IBSEINIS 155,282 86,854
XIl. =go[e
712 U oM FEAHEGA0|(H) 2,648 2,249
712 8l 5| FE0[(Y) 2,648 2,254




(3) A& Xp=tH

sH

X32212017 ¢
X317]20164

oo
=R =
(o]
E

181

bl
_'_
l:l
T

20174 12€ 31 X
2016'F 12€ 31 ¢ 7K

ECHR71sn O 3571 (THS| - aHate)
Xp7| =AY J|EtE A Q| X|Hi 7|
A Y= EERP T E! ;Illi_t;tE* ! 5&, SEE! ¢1|<;LJ|:|E-'E HIXIHXIE | e

2016.01.01 22,433 238,238 (17,252) (2,907) 610,144 850,656 596,914 1,447,571
HAESZ 20|
7109 - - - - 97,507 97,507 94,471 191,978
eI 2 XA 40 - - - (9,151) - (9,151) (8,363) (17,514)
X2Hx2Hs - - - 176 - 176 (16) 160
SH QAT AT QISt2HAALO] - - - 149 - 149 1,027 1,176
G S HaA - - - - (360) (360) (265) (625)

BN - - - (8,826) 97,147 88,321 86,854 175,175
Xp2oi 2T QA=
F39ko| Hej:
HAKHHHE - - - - (6,490) (6,490) (7,987) (14,477
LY X2HE - 3,446 (2,110 - - 1,336 3,078 4,413
AFHR|o ¥E N (14) (895) - (913) (1,822) (1,061) (2,883)
TAME O] 20 - - 153 - - 153 - 153
FAIMENHO| JAL - 324 (1,516) - - (1,192) (1,191) (2,383)

A - 3,756 (4,369) - (7,403) (8,015) (7,162) (15,176)
2016.12.31 22,433 241,994 (21,620) (11,733) 699,888 930,963 676,606 1,607,569
2017.01.01 22,433 241,994 (21,620) (11,733) 699,888 930,963 676,606 1,607,569
HAZEZLA0l:
gI=0|Y - - - - 114,579 114,579 128,563 243,143
eotsF S8R HEI 2 - - - 22,797 - 22,797 30,200 52,997
XegxtaHs - - - 307 307 35 342
SHQAr G etit=2 - - - (4,872) (4,872) (3,101) (7,973)
SIHZOHE O HEHQ A - - - - 568 568 (142) 426
SIZS SRS I Yot - - - (189) - (189) (273) (462)

A H - - - 18,043 115,147 133,190 155,282 288,472
Xrof & A AE
F3ote| Hel
PN = - - - - (10,817) (10,817) (10,011) (20,828)
FEI1U X2Hs & - 793 15 - - 808 886 1,694
HZeolo| HE - (256) 543 - 105 392 28,670 29,062
FAIMEHO| 20 - - 216 - - 216 - 216
TILEALRY Q] 2y - - 2,293 - - 2,293 2,514 4,807

A - 537 3,067 - (10,711) (7,108) 22,058 14,951
2017.12.31 22,433 242,531 (18,554) 6,310 804,324 | 1,057,045 853,947 1,910,992




327120174 1
312120164 1

°J

=

ol
=
(o]
E

B
B

bl
-
l:l
-

20174 12€ 31 X
2016'F 12€ 31 ¢ 7K

@712 1 E57|Y (ThQ] - uigkel)
A Y= X32(F)7I H31(H)7
| S AHSSE
1.97|20[¢] 243,143 191,978
2HegdE9 £
E[XF0 5,886 6,691
LIt 12,415 13,286
EXRSAZ IS ZH| 3,033 2,960
SR 2| 30,219 18,229
Q|gtetitolel (634) (4,176)
Q|otetitE 4l 1,846 2,378
CH&af 24| 7,110 12,264
7|EF QT &4 24| 934 1,497
ZAHAH |2 216 153
e et N = S N S s e (16,559) 546
=t sa8 Akt 3,469 (46,450)
OH 2Ol g A A2 0] - (1,182)
OH 2 Of| YRHAHE D A - 493
X EHEA 5,799 1,319
Xlggole (14,115) (10,543)
g g+ (30,426) (10,907)
IS EEtE 9,923 1,644
CHO|OjOf It <] (22,449) 10,673
ZH I | HEXFAHE0| (1,416) (813)
AV GEXFANEE A 18 -
SEI|USAMZ 0[S - (6,064)
FIXRHEO (791) (34)
OEXIAN B A Al 12 60
YR 7| & A 2 133
FAXHE0(< (3) (5)
FHIRIHEEA - 1,222
e N N e PN 642 594
EXE sS4 HE0(2 (4,483) (95)
EXR SAtEdAE - 995
A - 217
O|XtH|E 86,631 61,850
O|Xf==< (265,933) (195,485)
HOINH|E 102,007 69,315
il (86,646) (69,235)




A E o= H32(F)7I H31(H)7
32K =F
N PN, 604 8,970
o= xH 2,882 18,454
CHEXHH (955,940) (312,854)
ol=2 (333,039) 42,710
by (119,231) (47,781)
7|l XA (100,696) (431,123)
CHO|OHOH 2 8 KF4t (835,220) (905,398)
IHY A XA (27,633) (7,878)
J|EF-S XAt (27,599) (32,086)
7|EHH[ g S XAt (21,784) (627)
CHO|OO 2 8 & A (27,017) 232,089
F|EAAANFEEM 54,574 531,713
IHEA S S XH (3,387) 5,384
ol~32 857,430 358,448
O U (4,009) (13,177)
o X2 295,142 (25,733)
eSS M 92,660 35,592
7|EtH| RS (242) -
EXZoXF (1,428) (3,776)
2|2 LM (5,571) (15,631)
2 A (1,159,503) (562,706)
O|XtQ| =~F| 260,758 204,394
O|Xte| X5 (78,858) (57.441)
g =22l =3 32,015 11,014
HolMel & (62,274) (74,036)
FAIME A - (1,409)
YUSSOZ Q% =33 E (851,365) (357,441)
EXedsSd3SE

ARAZETIO 2 Olst sigd Q= (19,169) -
AP EZ Qo g R Y - 14,139
F AKX HE 17,299 2,287
FAXO| FE (10,155) (12,346)

QAL MEFE (723)
S ARl HE 16 2,697
AL FE (8,482) (7,628)
EXESAe] H& 25,588 2,287
EXrHE*& == (300) (9,016)
SEIIEEX HE 25,897 14,729
+¢7|°*EIr9 == (83,495) (103,610)
AV EEXL HE 2,461 45,734
HHPIEEXL| FS (79,996) (76,241)
thI2sdEel 44 101,249 24,300
I8 EEel Bt (68,854) (85,689)
It Z2| o (734) (4,740)
T2 9l 3l 678 7,775
HIIH{Z 2| (475) (173)
oIt =9| 31 621 543




A E O 5 H32(F)7I X31(H)7]
IS 2 EXHALo] £|= (274,689) (506,646)
H=rtsas8Attel H&E 142,746 153,800
I ERSEAHIC FHE (3,561) (300)
2RSS He 908 -
GI|ERIAMXIYZ A FHS (115,336) (138,195)
FO|1EUQIAMXEF 8RS K E 91,388 43,151
7|EtH| RSS2 37t 306 4,436
J|EHHI R S5l &4 (14,714) (2,250)
7|EHHI S XA Bt (291) (1,685)
J|EHHI R SXHAS] 2 A 404 877
HII28EES LA 44 3
dlgsdE2 3t (2,022) -
EXgSOZ Qo #3185 & (273,392) (631,764)
Il HFELSASSE
HEXtES f¢ 10,842
CHOIXtIZ9l Bt 30,908,119 9,141,180
CHOIXZ29ol 44 (30,654,038) (8,615,608)
HoIXrd=9 Bt 5,763 33
HIXUZ 9 Ea (9,004) -
SR HS =] Bt 622,746 404,926
HXIEI|AL Q| B2+ 10,000 50,000
AHR{O| 296,585 -
g =2l Xlg (21,239) (14,477)
HIXIBHEXIXIEX S| =& (14,742) (13,300)
HIXIHH X[ 22| =5& - 73
SEI|EARKEES 1,694 4413
WSSO Z Q5 =035 1,156,725 957,239
IV A A GRS SIHE &) 31,968 (31,965)
V. QotHEA| AZ S HXHO| SteHES 2t (5,909) 2,142
VI, SHRIAFHBHAXLO - (230)
VIILZ|E sia A3 gRat 156,148 186,201
VI 7|2 AS 2GR 182,207 156,148

*

- 348 15Y ™MXSAIA| A (http://dart.fss.or. kr)of| SA|SH SALS)

-3 8 23Y FHIIFE WAL E& HIXE HE

7| HEHESY2 FII1FFEY 52 YoM HE

2 £+ st



2. €& IEHE

(1) XHF-SEHE

X 3271 20174 12€ 31 XY
H 3171 2016 128 31 XY

i (Th9] : satel)
AE0= H32(F)7 |2 M31(H)7 1™
|. Kb A
(1) F-SXHLt 106,133 143,403
1. 12915 T A XpAL 4367 4,645
2. INE RS D |EFRHAH 28,403 33,123
3. Bt E 5 66
4. HI1ZBEE 68,676 101,239
5. 7|Et-a ALt 4,268 2.814
6. THOXpAE 415 1,009
7. O{ZHOf g XAt - 507
(2) HI S XAt 599,522 560,113
1. &7 o= 7 [EF - -
2. 27|t g 1,730 1,876
3. BHTIYEX 219,929 193,454
4. HHI|AEX 76,752 45,505
5. Eotsa 8t 33,106 36,071
6. EXESA 172,181 182,922
7. QYR 76,286 80,026
8. FHXALE 15,827 17,875
9. JEtG &AL 1,649 1,786
10. 7|EtH| S SXIHA 2,062 598
NNl 705,654 703,516
Il & XH
(1) Fs5FM 188,639 97,295
1. OHLXHE S 7 [EF RS 15,612 17,110
2. BOIXUS 49,900 59,900
3. 35 A 99916
4 JEtRs5M 17,480 16,583
5. G719 MIE XK 5,731 3,702
(2) HlRs5XM 17,163 118,659
1. ARXH - 99.775
2. =8GO X - -
3. OB QI MIE XK 13,197 14,747
4. JEtH| S5 3,966 4,137
S5 205,802 215,954




AE o5 H32(F)7 |2 H31(X)71 ™
. Xt &
(1) Xr2= 22,433 22,433
(2) Xr2dog 178,513 178,513
(3) Rt7|=A (9,154) (9,154)
(4) 7|t L& S H A (366) (770)
(5) 0|2Yog 308,426 296,540
XtEEH 499 853 487 562
2 X1t XHESAH| 705,654 703,516
(2) EHSHMA
327120179 1€ 129 20179 12€ 31 MK
X 317120169 1€ 128H 20169 12€ 31 Y 7K
i (Th9] : datel)
HE M= H32(F)7| H31(H)7|
. OiE 181,904 214,672
Il 0= 20t (145,485) (175,753)
I1.01=E50(< 36,419 38919
IV HO{H|2t 2t2[H] (15,747) (16,912)
V. 3gol< 20,672 22,006
7|EF=< 19,189 22,534
J|EtH|E (8,827) (10,381)
=Z8TY 1,541 1,544
=zad/t (4,022) (4.487)
VI. HOINH| S HAIEF Yol 28,553 31,216
Al AR QIMHEIE (6,559) (7,295)
VIl AEF 0| 21,994 23,921
VIIL BT EE0 - 199
IX. & 7[&0[ 21,994 24121
X. J[Ef &9 1,113 (771)
SEMOZ YI|AQoZ YERE 4 Us T2
IHEIHS 2 8XAEI 0l (HOIN B I D) 405 (704)
S£MOZ |20 WERLX| U= &2
SHFOHEO| IHEHA (HOIMB AL D) 708 (66)
XI. ZZ 20| 23,108 23,350
XIl. =G&9]
712 8l 5| FEAHSF0]2(R) 508 553
718 3 oM FH0Q(#) 508 558

T O —1

- 10 -



(3) OIYYOIFHEAHLM(RH)

327120174 1
312120164 1

°J

=

Obl
=2T
Ol:l
=T

B 20179 129 31Y 7K
B 2016 12€ 31 7X|

@IS (Er9l : ware))
AE 4 = H32(F)71(2H) H31(™)7]
|. O|X20|YA= 297,567 286,762
10| O MZ20[UANF 274,864 262,708
F7|=0[Y 21,994 24,121
=2 HG N HEEA 708 (66)
Il. oA AHZ X & (14,278) (11,898)
o|EH|a 1,298 1,082
HiE =
(_J'C_ Hj|-| ] o § (oHEqHHErE)-
& 7] : 3008 (60%) 12,980 10,817
X 7| : 2509 (50%)
I, Xt2[0| 80| X &0| Y= 283,289 274,864

d71 oldYNE e Y| M2 o

7| HE HLS 2017 H 38 24 LO|N

Y2 2018 3 & 23 LO|H,

AUSLICE

11 -




(4) XA=2HSH

XN 327/20179 1€ 1Y
(o]
E

B 20179 129 31Y 7K
H317]20164E 1€ 1 &

2016'F 12€ 31 ¢ 7K

bl
-
l:l
-

RCH 7|2 (Tr9] : earey
A" = ez meeed | aoiEa | TENES ooy &
T =1

2016.1. 1(E0=H) 22,433 178,513 (9,154) (66) 278,976 470,702
&7]20]2] - - - - 24,121 24121
J|EE 20l

HEets2 XAt moraol - - - (704) - (704)
SOzl HEHRL - - - : (©6) (©6)
o)l = = - (704) 24,054 23,350
IS - - - - (6,490) (6,490)
2016.12.31(X7|2) 22,433 178,513 (9,154) (770) 296,540 487,562
2017. 1. 1(E102t) 22,433 178,513 (9,154) (770) 296,540 487,562
=7]20/2] - - - - 21,994 21,994
7|ErE:-_r_+_o|-

iAo - - - 405 - 405
ool HEHRL - - - - 708 708
EZo|e - - - 405 22,703 23,108
AXtENS - - - - (10,817) (10,817)
2017.1231(E 7|2 22,433 178,513 (9,154) (366) 308,426 499,853

- 12 -



B 201749 128 31 7HX|

H3272(2017¢8 1€ 1¢
QHE 20169 12€ 31Y X

H 317120164 1€ 1

(=]
-
=
-

- 13 -

i v (EHQ) : siarel)
AH = M32(F)7I H31(H)7|

| JUES=SSE

1. §71=0(¢ 21,994 24,121
2. HHI Y=o =

EXZH 2,355 2,461
& 2td| 2,267 2,174
EXtESA A2HH| 1,350 1,310
S AR A2 2,016 2,070
SR EA K E 616 440
CH& 2| 64 384
7|EFQICH &4 2] 161 1,197
eliel Xl fo] ST (26) (15)
QlotetitE Al 67 122
= 7tsa8A &0 (984) (1,070)
H=ltsa8ARHEEA 23 469
S| UEXF AN 202 - (9,147)
OH 2Ol 'S K201 - (1,182)
OH 2 Of 'E Kb b Ab K - 493
KX 20]< (743) (11)
RPN ENPS IS 4 3
FERA D[ &A 2 85
EXRSHHE0 (3,793) -
EXR SAtEAK S - 534
SR 202 (3) (5)
SN EEA - 15
O|Xp20l (1,541) (1,544)
O|XtH|E 4,022 4,487
&M - 217
g =2+ (10,438) (8,614)
HOIMH|E 6,559 7,555
2 A 1,980 2.428

3. RUXE9 = H
THO XA 595 10,065
OHEXH2 4,377 17,128
0l=2 243 (8,091)
J|EFR-S XA (828) 332
NEIESEE PN, (1,800) (5,800)
EIXZo| X|g (1,247) (48)
O 4 XHS (2,638) (13,241)
a|xXlg2 993 1,143
JEtRsE M 909 1,418
2 A 604 2,904



AE O 5 X32(H)7I H31(H)7|
O|Xto| =% 1,629 1,225
g 22l =3 10,438 8.109
HoIM Q| H & (6,454) (7,735)
O|Xtol X|2 (3,894) (6,794)
FUHSOZ QI =25 & 26,298 24,258
I EXr2SHESE
AMEZER O Z Ol HEZ Y - 248
AtHS =2 Qo g/ Y - 14,139
XLl HE 1,282 61
[ FE (1,620) (5,763)
FHXLOl HE 16 187
SO FE (597) (2,293)
EXESLS HE 16,095 -
EXESAL| FE - (5,687)
KRS MF FE (723) -
SEI|UEXS] M - 10,798
SEI|UEXC] S (26,306) -
ZHI | HEXS] M 598 -
HH | HUEXC] F= (31,847) (9,366)
EIts28AMel HE 16,402 9,707
=Ttsa 88Xl S (11,436) (6,434)
CHIZ84E9 Y4 101,239 60,350
T2 8 Y&l Bt (68,676) (101,239)
Tt Z2l 3l 722 7,690
THO|ITHOIZ 9| thod (661) (4,648)
HI28HES LA - 3
HIIHZ 2| 2+ 621 543
oozl o (475) (143)
J|EtH| SRS A (291) 990
7|EHHI G- SRS STt 268 (1,680)
J|EHH| RSEXHel St 347 1,598
J|EHHIG SE Xl A (687) (2,527)
S22 oI5t g9l A4 - (7,500)
EXZESOZ Qlot =25 E (5,727) (40,965)
Il IHEeEsAHSSE
g =22l XI5 (10,817) (6,490)
THOIXRIZ 9| 7t 5,000 13,000
CHO|XtlEol &4 (15,000) (44,000)
NEESO=E Qlot =25 & (20,817) (37,490)
IV oS U AS GRS SIHE L) (2406) (54,197)
V. QBtHA| U HB GRS ereHsant (32) (29)
VI.7|X AS USRI 4,645 58,870
VILZ | Sl eda Rt 4,367 4,645

- 14 -



(6) 4 At

-39 15¢
-3% 23¢

' A7 HEHESHS YIIFFES 2 YoM HE E = U

XS A|A| A8 (http://dart.fss.or.kr)oll SA|

HIIFE HEEA0 B HIXE ZALEOA
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St ShALOl



XN 23 9ot :

OJAF MRHQ| &

@ HAHE €

A T 382 X 9 X| 542 29| 5, TAI Mt X 30X, 31 X 29| -0 2|5t O|ALE MU Xt
LIC}.
(1) OJAF B2 : 3H(AIRIOIA} 1 et
(2) 7|22 =l OJAH2 F) : & B Z(AILHOIA}), & & E(AILHOIAL)
(3) OJAF T} (2 &)
SEX SAIRIl | AlCHEZ
JUIELIL] XX0| = QoFay d
N g SE | S T Heue | otelzHA ht
e SUTHSIY ZHTBE g .
OlALS| | &t i ole M
(AFLHOIAN 61.04.17 |ALS] ot= Informix e o2 Al
(1) CHR7|2 THEOJA}
A0 HXHALSH
Al A H S S|AL
64.09.20 O|AlE] | SUYAIAEIXRE = ARA
(AFLHOIAR) olel
() CtR7|2 ITS 22X
H 3 9ot : ZfA} Melol A
@ Hotlg €
AR T 409 = U DA} HBH X 30 X, 31 X, 32 X9 FHO|| Q5 AZAS MUStDX}; BHLICH
(1) ZAF &3 01
(2) H2AL TEX} (1)
FHxt sjAterel | AHFEE
MUY | E=xOl z= Q0o H|D
Ny = T Haluel | otojm -
Met 2astat
005 & | or | o | AN B B oo oro Aol
(*JE?:."A") . . | |'9—| '6'}% |BM 010‘|j|9_| X:'_I- ST y=) ST y=) |_‘El'|_|:|
() @2LIT | HHEOA}

- 16 -

ot



X 43 oot : OA} HABIE £0I0|

—

© Hotg &
A T 388X L YA

2t H 40 =9 1780f A Xl 33 71(2018 H&E)Q| O|At B3t 8 CHEDF 20|
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(1) M7| O|AtE =Tt = 1,800,000,000 &
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(1) M| ZAtE=~ct=2 : 100,000,000 &
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